Bridgeclub Lier *** ClubTornooi *** 4 giften per ronde *** 16/11/2017 Nz ow |9ift 1 Nz ow gift 2 Nz OW gift 3 Nz OW gift 4 Nz OW
datum=470 datum=50 datum=-70 datum=650
1 Smets Eric-Blockxhuysen Yvonne 2 Van Erck Wim-Hasenbroekx Leo 1 2 0 0 480 N4H+iniet gespeeld 5 -5 100 04s-] 0 0 650 N4s+
3 Peeters Geert-Braeckmans Leon 4 Aerts Danny-Beukeleirs Wim 3 6 -1 1 450 N5H= -2 2 0 PAS 7 -7 200 O3N—‘: 0 0 650 N4S+
5 Van den Eynde Dries-Mistiaen Dierik 6 De Cat Raf-Cle Hilda 5 10 0 0 480 NAH+: 1 -1 90 ZIN= -2 2 -150 N5R—‘E 0 0 650 z4S+
7 Van Uffelen Marc-Peeters Luc 8 Segers Marcel-Vandenberghe Stefan . 14 0 0 480 N4H+‘: N 2 120 NINHI 9 —9 300 045_‘2 _13 13 —100 Z6S-
9 De Lille Ann-Daniels Guy 10 Gielis Mariette-Geenen Francine
11 Putzeys Theo-Van Gestel Guy 12 Meyus Yves-Luyckx Kamiel o 4 -t 1 450 nNSmS -2 2 0 PAS | -11 11 -620 0459 0 0 650 Z4S+‘
13 Taeymans Eddy-Dierckx Jeanine 14 Arras Lut-van den Wijngaard N 11 8 0 0 480 N4m+z -4 4 -90 OlN= -11 11 -620 04s= 0 0 650 ZSST
13 12 -1 1 450 N5H= 2 -2 100 wW2s-: 5 -5 100 04s-1 0 0 650 z4s+
| | |
Nz ow |9ift 5 Nz OW gift 6 NZ OW gift 7 NZ OW gift 8 NZ OW Nz ow |9ift 9 Nz OW gift 10 NZ OW gift 11 NZ OW gift 12 NZ OW
datum=-450 datum=40 datum=70 datum=-50 datum=190 datum=90 datum=-440 datum=70
1 14 1 -1 -420 W4H= -8 8 -300 z5R!- -5 5 -100 z3s-1 -2 2 -100 z3H-2 |1 12 =7 7 -100 z5H!- -5 5 =100 Z5R-1 0 0 -450 04s+1 -5 5 -100 z4K-
3 4 1 -1 -420 O4H= 4 -4 200 04H—‘: 2 -2 140 z3s= -6 6 —-300 Z3H!‘—2 3 2 3 -3 300 06R—‘£ 2 -2 170 Z4R+‘: 0 0 -450 04S+‘J 1 -1 100 W4H—‘
5 8 -11 11 -980 W6H=| 10 -10 500 W4H!‘- 2 -2 140 z2S+lniet gespeeld 5 6 -3 3 100 05R—‘J -5 5 =100 Z5R—‘J -1 1 -480 O4S+‘2 -5 5 =100 Z4K—‘
7 12 -1 1 -480 O4H+: -3 3 =50 N4s—‘J 2 -2 140 21S+‘: 4 -4 100 O3R-2 |7 10 6 -6 450 Z4H+‘J 11 -11 620 z5R+‘J 0 0 -450 04S+‘J 11 -11 600 Z3N=‘
9 2 0 0 -450 O4H+‘J -8 8 -300 Z4S!‘- -5 5 =110 O3R= 3 -3 50 W3N—‘1 9 14 0 0 200 ZZH+‘E -5 5 =100 N5R—‘J 1 -1 -420 04s= 1 -1 110 Z3K=‘
11 6 0 0 -460 04N+‘J 3 -3 140 ZZS+‘J 1 -1 100 O2N-1 -2 2 -110 W2$=‘ 11 4 -10 10 -300 ZSH!‘- 11 -11 600 Z5R= 0 0 -450 04s+] 2 -2 130 Z3K+‘
13 10 1 -1 -430 O3N+‘J 4 -4 200 O4H!‘- 0 0 80 z1s= 0 0 =50 Z2H—‘1 13 8 10 -10 650 ZSH!‘= -5 5 =100 Zz5R-1 1 -1 -420 04s= 1 -1 110 Z3K=‘
| | | | | |
Nz ow |9ift 13 Nz OW gift 14 NZ OW gift 15 NZ OW gift 16 NZ OW Nz ow |9ift 17 Nz OW gift 18 NZ OW gift 19 NZ OW gift 20 NZ OW
datum=-20 datum=-340 datum=-140 datum=440 datum=20 datum=670 datum=-140 datum=750
1 10 -3 3 =110 01S+1 4 -4 -200 W2H+: =2 2 -200 N3N-Z 2 -2 490 N3N+3 |1 8 1 -1 50 W3s-1 1 -1 690 N3N+: 0 0 -140 02s+1 10 -10 1200 z5S!
3 14 -3 3 -110 OlS+‘J -3 3 -450 04H+‘J 1 -1 -100 N3H—‘J 0 0 450 Z4H+‘1 3 12 1 -1 50 W3S—‘J 0 0 660 Z3N+‘: 0 0 -140 OZS+‘J 1 -1 790 Z4S!‘
5 4 3 -3 100 OZS—‘J 5 -5 =170 O3H+‘J -8 8 =500 N3N—‘E -1 1 420 Z4H=‘ 5 2 1 -1 50 WZS—‘J 0 0 680 Z4H+‘2 0 0 -140 OZS+‘J -3 3 650 N4S+‘
7 8 4 -4 110 N2H= 9 -9 50 W3N—‘J -6 6 —-400 N3N—‘4 -1 1 420 Z4H=‘ 7 6 1 -1 50 W3S—‘J 0 0 680 Z4H+‘: 0 0 -150 W2N+‘J -3 3 650 NSS=‘
9 12 4 -4 110 N2H= -3 3 -450 O4H+‘J 1 -1 -100 N2H—‘J -6 6 200 Z2H+‘3 9 10 -4 4 -140 W2$+‘J -1 1 650 Z4H+‘J 1 -1 -120 W2N= -3 3 650 Z4S+‘
11 2 -3 3 -110 02s= -3 3 -450 04H+‘J 6 -6 120 21N+‘J 0 0 450 Z4H+‘1 11 14 -4 4 -110 W2s= 0 0 680 Z4H+‘: 0 0 -150 OIN+Zz -4 4 620 Z4S=‘
13 6 -2 2 -100 N2H-1 -3 3 -460 W3N+‘2 6 -6 90 ZIN= 0 0 450 Z4H+‘1 13 4 1 -1 50 W3s-1 0 0 660 N3N+‘2 0 0 -140 OZS+‘J 6 -6 990 Z4S!‘
| | | | | | |
Nz ow |9ift 21 Nz OW gift 22 NZ OW gift 23 NZ OW gift 24 NZ OW Nz ow |9ift 25 Nz OW gift 26 NZ OW gift 27 NZ OW gift 28 NZ OW
datum=-30 datum=-350 datum=10 datum=-120 datum=-630 datum=280 datum=90 datum=-290
1 6 -2 2 -110 W2H= -7 7 —-620 W4S= 3 -3 100 O5R-I 5 -5 50 W4s-1 |1 4 0 0 -630 W3N+1 -10 10 -200 N2N-: -4 4 -50 N4H-Iniet gespeeld
3 10 4 -4 100 OIN-Z 5 -5 -170 W2S+: 5 -5 200 04R—‘: -2 2 -170 WZS+‘2 3 8 0 0 -630 W3N+‘J -4 4 120 N2N= 0 0 100 04R—‘: -4 4 -420 W4s=
5 14 4 -4 100 O3R—‘2 10 -10 110 N3K= 3 -3 100 O3R—‘J -1 1 -140 W25+‘1 5 12 0 0 -630 W3N+‘J 8 -8 630 N3N+I 5 -5 300 05R!‘- -3 3 -400 W3N=‘
7 4 -3 3 -120 01N+‘J 4 -4 -200 W3s+: -3 3 -110 O3R= 6 -6 100 04S—‘2 7 2 0 0 -630 03N+‘J 8 -8 600 N3N= 2 -2 150 05R—‘£ 9 -9 100 04S—‘
9 8 -2 2 =110 O3K= -7 7 -620 W4s= -12 12 -600 W3N= -2 2 -170 W1H+‘3 9 6 0 0 -630 W3N+‘J -9 9 -100 N5K-1 -4 4 =50 N3H—‘J -3 3 -400 O3N=‘
11 12 -3 3 -140 W2H+1 -6 6 —600 N5K!! 3 -3 100 W3N-1 -8 8 —-450 W4S+‘1 11 10 0 0 -630 W3N+‘J 8 -8 600 Z3N= 5 -5 300 05R!‘- 8 -8 50 W3N—‘
13 2 3 -3 90 Z2R= 5 -5 -140 W3s= -4 4 -130 O3R+1J -2 2 -170 W2H+12 13 14 -3 3 =720 W3N+1¢. -3 3 180 N2N+‘2 -4 4 =50 N4H—1J -3 3 -400 W3N=J




